r
J

0

0

Jo
=
=l
0%
i
o
Jo
{0
to
H
o
ol
0=
2
1]

KA 2323Tm
Korea Aerospace University



st=eZEn A CHESH Q=01 SHA0f 2+t 7 5111
MWE JIZE

HS NE LR HBI (M) HS NE LR HBI (M)
1 2011.3.10 16

2 2011.9.1 17

3 2013.4.22. 18

4 2014.4.22. 19

5 2015.10.28 20

6 2016.5.27 21

7 2019.1.7 22

8 2019.12.27 23

9 2023.5.8 24

10 25

11 26

12 27

13 28

14 29

15 30

JAIPSE

: 1986.3.1.

HE

0 2023. 5. 8.

ne



KD
K0

K
ol

mo
100

o)

=
0
&)
ol
ol

Ll

3]

o]
OFJ

ol
e g

80

R0
o
00
oK

of

ol
0

ol
0

A= (

Z SHhORE 2019.12.27>

o)

==
1o

1o

erMI2

MI112HI2

FXI
=

ol

<HE 2007.9.1.>
M3x (3 2o &

of

1

) 2 A& M2x9 X0l dHgsl= X

SF
=1,

ol

of

ol
e g

80

2011.3.10.>
Ol&tel It

===
SS

I-A|.

—/

S

OIA
<OHE 2009.3.1.,

L

-/

S

At

0N HARRAE FHSOHAALE 012t
2011.3.10.>

| 0

3

o
I

L

-/

<IHE 2009.3.1.,

nEERE R
| o

o
I

SIALS

Lt 0l9t S5 olafel X0l AUCKD Of
2 =24

<2019.12.27>

—_

X)) 2

<OHE 2014.4.22., 2019.12.27>

@ AH
M5 (X

~

CZ S0l XIE0l UACH

=
=

Of

o)

=
TT

s2 M

of&l J[2t LHoll Ch

2011.3.10.>

2011.9.1.]

Xi6

£0

of Xl

<N
K0

of

ol
e g

i

tO0F BtC <OHE 2007.9.1.,

Ik

fall
KIO
Rr
X0

ol
e g

2011.9.1>

AE(TOPIK) 32 Ol&

<OHE 2009.3.1,

H

0|

s 2 =2 10

<HE 2016.5.27.>

7.

<JHE 2015.10.28.>

At
S

0

42

==
=

o
i
i

M@
110y
0H

i

E|
ol

Ol

i)



KD
RO

K
ol

mo
100

o)

40|

sl

b O

2009.3.1.,
Al Xl
L

=
=

<HE

S|

X
(]

[C}.

=
T

915151t

HA=

<HE 2013.4.22.>
0

w=(™MYWRA) ol ¢

Qe 2011.9.1.>
8

1 o =210
INES]

2
=]

REL

=
=

IELTS £= TEPS &8 &

ARl <2013.4.22.>
N 126

<2011.9.1.>
o o<l

Al

s
2013.4.22.>
<2009.3.1.>
=)

N7
X7

}

o

}

TOEFL,

S

Ct.

ct.
@ At
2011.9.1.,
@ AtH
® i

® Al

Q& 2016.5.27.>

tCH.

110
JJo

O10F EEE0I It

K
nK

[

T

o

S

2013.4.22.,

2011.9.1,,

<HE
LZ22H 902 OILHUI ==22 20

Ct.

3

[M2IHE 2019.12.27]

2019.1.7.>

Xi8

ole

| 101l

ol

of

Al

HM10ZE (MA) © O3

o)

)
ol

o)

At <gld 2019.12.27>

—

oro

248t

MHA

=
=

| /\IOl
= =

o]

@r____
ol

ok

2023. 5. 8>

M
=

2 <=3 Al

38

@ 4MHIK2019.12.27>

0 2023. 5. 8.

RO

H

: 1986.3.1.

oll
R0

HIE



FE N=cte0F ST
1. HISHEMEA
2. O AIAUIE A2 18
3. 2= SEE AlE 17
4. IHStSBAM 12
H13Z (E2RE) =0 s gt #E 0122 Alge 88 #E0| gl & & s
2 A AIgAEES HESIC
23
1. @ (AI&Y) 0l #E2 2003. 3. 1226 AIEHSHC]
@ (WX MeEHM2E & HMIES 20028tEE FI| USHMIH NESHCH.
Ae) Ol JHE HE=2 2004. 3. 126 AIHSHCH
AZ) 0l WS REES 2007. 9. 12H AIHSHTL.
Ae) Ol JHE HE=2 2008. 1. 126 AIHSHCH
AlZ2) 0] WS REES 20094 32 12L2H AIHSHC
AEE) 0] HE HES 20114 38 1022H AlSHolE], 20113 28 122EH XZSIHC.

Alg) O] JHE #EE 201149 938 1LPH AI#MSHCH
AL 0] HE #E2 20134 48 22UFH AIHSHCY.
Alg) Ol JHE HEE 201449 43 22LSH AIS#SEHIHCH
10. (AIE) 01 JHE #&E2 20154 102 28LRH AIZHGHH, 20154 98 1LRH XIS

© ® N O~ DN
P e e e e e

(Ale) 0l HE &S 201949 12 7L2H AI&GHE, 2018E 98 122H XESHL.
13. (Al%cl;l%) Ol HE &2 20194 128 272SEE A|IGHSHCE.
(AIZL) 0] JHE PES 20231 5 SUSE| AlMBICH

-

HEE 0 1986.3.1. -3 - H

0
ne

0 2023. 5. 8.



KD
K0

K
ol

mo
100

o)

<2011.9.1>

1> 2HA)

=

oo]:/\l

<A
<

<2011.9.1>

4 2> A

7;%] OO]:)\

0 2023. 5. 8.

RO

H

: 1986.3.1.

oll
R0

HIE



